HEAT ROUND / VONG CHUNG KET QUOC GIA
Peé s6 1: Pé thi Vong chung két qudc gia TIMO niam hoc 2023 — 2024
Logical Thinking/ Tw duy logic

QL. [4.18]

Amy takes her examination in four subjects, Chinese, English, Mathematics and
Geography. Her average marks of these 4 subjects is 84. If she scores 79 in Chinese
86 in English and 95 in Mathematics, how many marks does she score in
Geography?

Examination: Badi kiém tra; Subject: Mén hoc, Average mark: Piém trung binh:

Score: Pat duoc sé diém
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Q2.[4.1.4]

The age of mother 4 years ago is the same as the age of father 8 years ago. If the
sum of their ages is 80, how old is the father?

Age: Tuéi, Years: Nam; Ago: Trudc; The same as: Bang, Sum: Tong.

Q3.[4.1.3]
If we divide Chris's age this year by 3, then subtract by 8, then add 5 and finally

multiply it by 4, the result will be 80. How old will Chris be two years later?
Divide: Chia; Age: Tudi, Subtract: Trir, Add: Céng; Multiply: Nhdn; Result: Két
qud, Later: Sau nay.
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Q4.[4.1.6]

Given that 10" April, 2023 is Monday, which day of the week is 20" January,
20247

April: Thang tw, Monday: Thiz Hai; Day of the week: The trong tudn; January:
Thang mot.

Q5.[4.1.5]
It requires 132 minutes to cut a piece of wood into 12 sections. If the time required

to cut one piece of wood into two sections is the same every time, how many
minutes are required to cut a piece of wood into 7 sections? (You can only cut one
piece of wood into two sections at a time.)

Require: Céan; Minute: Phiit; Piece of wood: Khiic go; Section: Phan; The same:
Nhu nhau.
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Arithmetic/ Sé hoc

Q6.[4.11.2]
Find the value of (70 x 75 + 20 x 25 — 50 x 50) =+ 25.
Value: Gia tri

Q7.[4.11.1]
Using the method of S=2 x S-S, find the value of 3+ 6 + 12 + 24 +...+ 1536
Method: Phuwong phap, Value: Gia tri.
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Q8. [4.11.3]
Find the value of 56 = 28 + 392 + 28 — 224 + 28

Value: Gia tri

Q9. [4.11.1]
Find the valueof 1+2+3+..+19+20+19+..+3+2+ 1.
Value: Gia tri
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Q10.[4.11.1]
Find the value of 8 + 11 + 14 + 17 +...+ 41 + 44 + 47

Value: Gia tri

Number Theory/ Ly thuyét s6

Q11.[4.111.2]
Find the unit digit of 3 x 13 x 23 x...x 2013 x 2023,
Unit digit: Ché s6 hang don vi.
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Q12.[4.111.4]
What is the smallest 4-digit number divisible by 7 and 9?
Smallest: Nho nhdt, 4-digit number: Sé c¢6 4 chir so, Divisible by: Chia hét cho.

Q13. [4.1115]
If a 6-digit number 9843AB is divisible by 45, find the maximum value of A.

6-digit number: Sé c6 6 chi sé, Divisible by: Chia hét, Maximum value: Gié tri lén
nhdt.
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Ql4.[4.111.1]
Define the operation symbol a ® b = (a + b) x (a— b), find the value of (8 ® 5) ® 9.
Define: Dinh nghia,; Operation symbol: Ky hi¢u phép toan, Value: Gia tri

Q15.[4.111.3]
The sum of 8 consecutive even numbers is 280. Find the 2" greatest number.
Sum: Tong; Consecutive even numbers: S6é chdan lién tiép; 2™ greatest number: S6

[om thir 2.
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Geometry/Hinh hoc

Q16.[4.1V.1]

How many rectangles are there in the figure below?

Rectangle: Hinh chir nhdt, Figure: Hinh vé.

Q17.[4.1V.3]

We combine 16 squares of perimeter 32 to form a new rectangle. What is the
difference between the largest value and the smallest value of the perimeter of the
rectangle?

Combine: Ghép, Square: Hinh vuong; Perimeter: Chu vi; Rectangle: Hinh chir
nhat, Difference: Hiéu,; Largest: Lon nhdt; Value: Gid tri; Smallest: Nhé nhat.
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(xaodeMath
Q18.[4.1V.4]
The lengths of sides of a rectangle are integers. If the perimeter of the rectangle is
74, find the largest possible value of the area of the rectangle.
Lengths: D¢ dai; Sides: Canh; Rectangle: Hinh chiz nhdt, Integers: Sé nguyén;

Perimeter: Chu vi; Largest possible value: Gia tri Ién nhdt c6 thé, Area: Dién tich.

Q19.[4.1V.7]
Given the lengths of legs of a right-angled triangle are 9 and 12, find the length of
the hypotenuse of this right-angled triangle.

Lengths: D¢ dai; Legs: Canh gbc vuong; Right-angled triangle: Tam giac vuong
Hypotenuse: Canh huyén.
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Q20.[4.1V.7]

A line segment is formed by joining 2 points. Given that there are 99 points, at most
how many line segments can be formed by joining these points?
Line segment: Doan thcfng, Formed: Duoc tao ra, Joining: Noi, Points: Diém, At

most: Nhiéu nhat.

Combinatorics/ Toé hop

Q21. [4V5]

A flight of stairs has 7 steps. Tommy can go up 1 step, 2 steps or 3 steps at a time.
How many different ways are there for Tommy to go up the stairs?

Flight of stairs: Cdu thang, Steps: Bdc, At a time: 1 lan; Different ways: Cach khac
nhau.
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Q22. [4V.1]
How many 2-digit numbers are there which contain digit "6"?
2-digit numbers: Sé ¢6 2 chiz so, Contain: Chua; Digit: Chir so.

Q23. [4.V.3]

In how many different ways can Parker walk from point A to point B following the
paths in the figure below given that he can only move left or move down?

Different ways: Cac cach khac nhau; Point: Diém; Path: Puwong di, Figure: Hinh

vé, Move left: Bi sang trdi; Move down: Pi xuong dudi
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Q24. [4V.4]

Numbers are drawn among 57 integers from 23 to 79 at random without repetition.
At least how many numbers should be drawn to ensure that there are two numbers
whose sum is 80?

Drawn: Pugce chon ra; Integers: Sé nguyén; At random: Ngdu nhién; Without
repetition: Khéng Idp lai; At least: It nhdt, Ensure: Chdc chdn; Sum: Téng.

Q25. [4.V.7]

Given that the total weight of 10 boxes of apples and 2 boxes of pineapples is 750
kg, and the total weight of 3 boxes of apples and 2 boxes of pineapples is 330 kg.
What is the difference between the weights of a box of pineapples and a box of
apples?

Total weight: Tong cdn ndng; Boxes: Hop; Difference: Hiéu.
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